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0T-029 va 25 25 — 150 25 1,030 OT-031 % 50 25 — 100 25 1,360
i OT-029MB 4 25 25 /\7-Xu#ff 160 40 1,360 OT-031MB % 50 25 /tT-Xw#ff 100 25 1,780
A oT-030 % 30 30 — 100 20 1,410 oT-032 % 60 30 - 80 20 1,810
. OT-030MB 3% 30 30 /\7-Xw#ff 100 25 1,750 OT-032MB % 60 30 /V7-Xw# 80 20 2,340
3 OT-066  %x%: 29 30 — 120 20 1,370 OT-067 %x%x% 60 30 — 80 20 2,040
1 0T-072 1% 32 32 — 90 10 2,040 OT-068  1x%x1 68 365  — 45 — 3,180
= OT-155 1x% 35 35 — 60 10 2,490 OT-069  1x%x1 58 32 — 45 — 3,200
7 OT-071 1 32 32 - 60 10 2,460 oT-107 1 75 375  — 45 — 3,340
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oT-161 va | 20 — 160 40 1,270 oT-183 % | 25 - 60 10 1,630
7% OT-161IMB % 20 /\T7-Xw*ft 160 40 1,480 OT-183MB % 25 /\J-XwHfd 60 15 2,450
ﬂ' ; oT-162 Ya |24 — 100 20 2,040 oT-184 % | 30 — 60 10 2,330
" OT-162MB % 24 /NT-Xw*ff 60 10 2,670 OT-184MB % 30 /VJ-Xw#f§ 60 15 3,380
ik oT-163 1 30 — 60 20 2,960 oT-185 1 32 — 30 3 4430
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& OT-073 ' 24537529 — 180 30 1,140 oT-027 Y: 345 — 200 25 890
i OT-073MB !5 24537529 /t7-Xv# 150 25 1,760 OT-027MB % 345 /{7-Xw#{¢ 200 50 1,300
F 0T-074 % 29 43 35 — 120 20 1,850 0T-028 % 37 — 100 20 1,030
OT-074MB %4 29 43 35 /tZXy#f 90 15 2,740 OT-028MB % 37  /\T-Xw#{¢ 100 20 1,480
o OT-157 1 40 535425 — 60 10 2,690 OT-077  %x% 37 —_ 140 35 1,130
ti oT-078 1 40 - 60 20 1,780
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